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(English Version)

Instructions:

()
(it)
(iii)
(iv)

(v)

(vi)
(vii)

(viii)

(ix)
(x)

(xi)

(xii)

First 15 minutes are allotted for examinees to read this question paper.
All questions are compulsory. -
This question paper has two Parts A and B.

Part - A contains 20 multiple choice type questions of 1 mark each that have to be
answered on the OMR Answer Sheet only.

After giving answer on t@lﬁ’ Answer Shkeet do not cut it and do not use eraser,
whitener, ete. ~ &6 ' = '

‘b. [ . %
Part-B conmir@scnptwe type questions of 50 marks.
Sl
There are 5 questions in Part - B.

In the beginning of each question, it has been clearly mentioned that hoy many
parts of it are to be attempted.

Marks allotted to each question are mentioned against t.

Start from the first question and go up to the last question. Do not waste yoy,r
time on the question you cannot solve.

If you need place for rough work, do it on the left page of your answer p, ok and
cross (x) the page. Do not write the solution 01 that page.

Draw neat and correct figure in solution of @ questuifn wherever s necessary,
otherwise in its absense the solution wil] be treated as incomplete qng wrong,

822 (HW) 6

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Part - A

Multiple Choice Quostiony

. GQiven that LOM (12, 21) w 84, HOP (12, 2D will bo
(A3 AT © 7 M 33
B A box contains 8 blue, 4 white and 8 red marbles. If & marble is drawn at
random from the box, thon the probability of it being blue will be :
5 l ) 1 D 0
A) n 3 - h(()) by (
w1 B 5 3
8. The modo and median of a froquency distribution are 42 and 381 respectively.
Its mean will be :
(A 881 (B) 8616 (©) 35 (D) 40-05
“ —r—r R
Class interval 0-5 | 6-10 | 10~16 16-20 | 20-25
Frequency 7 11 16 18 9
Modal class of the above fm@mcy distribution will be :
(A) 0-5 (B)g%—- 10 (C) 10-16 (D) 16-20
\Q [T K
5. One card is dra@&rom a well-shuffled pack of 52 cards. The probability of
gotting a face card will be::
3 1
1 1 (0 = D) -
(A) W (B) 73 . 13 1
8. The difference of a rational number and an irrational number is :
(A) Always an irrational number
(B) Always a rational number
(C) Both rational and irrational numbers
(D) Zero
822 (Hw) 7 P.T.O.
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Which of the following numbers is a ratjonal number ?

7.
(A) ‘/_i (B J2 x V7
J6
© WB+v7 ) (V5 -v7) @ 12
8. The distance between the points (z, b) and (6, — @) will be :
(A) 2b (B) 2(a-b)
2
(C)  y2a? + 262 — 4ab (D) Jm
9. The sum of the zeroes of fhe quadratic polynomial 4x? — 4 + 1 will be :
{A) 1 (B 4
1
(C) -4 | (D) 4
10. The number of solutions of a pair of linear equations x —y = 8, 3x — 3y = 16 will
be : SQ\@
ini ' &6 (B) N
(A) Infinite \ch, «(B) one
QQ
(C) Only one:d (D) Two
11.  If one root of the equation x°~ kx — 8 = 01is 2, then the value of k will be :
(A) 8 (B -2
(C) 2 (D) 4
12. zUth turm Uf the A.P. 10, 7, 4, ven Wi]] be '
Ay —47 (B) 47
() -0n7 ' (D) 67
822 (HW) 8
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8. A tangent PQ at a point P of a circle of radius 10 em meets a line through the
centre O at a point @ so that OQ = 12 cm. The length of PQ will be :

(A) 12cm (B) 13 c¢m
(0 2J11em (D) 3J5cm

14. If two cubes each of volume 8 ¢cm3 are joined end-to-end, then the surface area

of the resulting cuboid will be : 1
(A) 48 cm2 (B) 44 cm2
.(C) 40 sz (D) 30 cmﬂ
15. If the area of a sector of a circle of radius 14 cm is 154 cm?, then the angle of the
sector will be :
(A) 120° .(B) 90°
(C) 60° (D) 30°
16. The value of 2 sin 30° cos 30° is : 1
1
(A) 1 Q (B) 3
& i
© V3 ¥ D) =
O
- S
17. If sin 6 = %, then the value of tan @will be : 1
' 4
3 B) —
4
3 D) =
o 2
© 5 5
18. The value of (cosec A + cot A) (1—cos A)will be : 1
(A) cosA (B) tan A
(C) secA . (D) sinAd
822 (Hw) 9 - P.T.O.
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_ 2
19. The value of l-tan’A will be :
1-cotlA

(A) cosec’A (B) — tan’A
€ -1 (D) cot’A

20. In the given figure, if ST||QP, @S = 3 cm, SR = 1:5 ¢cm and PT = 2:8 cm, then
the value of TR will be :

P

(A) 3em (B) 1'5cm (C) 1cm (D) 14cm

N

Descriptive Questions : %6\

21. Do all the parts $Q\Q

Q
{a) Provetha J2 is an irrational number.

. 2
I+secA sin“A

Pr : =
) ove that oo A I —cos A

d©) A chord of a circle of radius 21 cm subtends a right angle at the centre.
Find the area of the corresponding minor segment.

Ad)  Find the mode of the following data :
Class interval 15-20 (920 —25|25-30)|30-35/35-40| 40-45
9 | 10 | 3 2

Frequency

822 (HW) 10
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the points 4, -« €8 of the point which divides the line segment Jmnmg 9
and (8, 5) in the ratio 3 . 1 internally.

. (0 Find the valyeg
{13.)') 1s 10 Llnit:fy for which the diStance between the points (5, - 3) and 2

I}O 3[1‘\1' ﬁl‘e pﬂrts .

@  Find the zeroeg of

v

the quadratic polynomial 3x2 —% —4 and verify the

relationshi
P between the zeroes and the coefficients. 4
) Solv .
b e the followmg PAir of linear equations :
02 +03y =13 and 0-4x — 0-5y = — 07 4
(¢) Prove that the length _ 4 to a
. : s of t m an external poin
circle are equa] he tangents drawn fro .
(d D is a point on the side BC of a triangle ABC such that Z ADC = £ BAC.
Prove that CA% = op « CcD 4
4

() Find the median of ihe following frequency table :

—

Class interval | 15-20 | 2025 |25 30| 30 - 35| 35 _40 | 4045 | 45-50
QD
S

Frequency 14 Q§§> 56 60 86 74 62 48
N
@ Adieis throwntonce. Find the probability of getting : - 4
(1) A prime number
(11) A numberlying between 2 and 6
% Ifthe sum of the first 8 terms of an A.P. is 64 and sum of its first 17 terms is
289, then find the first term and the common difference of the progression. 6
OR
A train covers a distance of 180 km at a uni{orm sg?fc}. If the speed had been
5 km/hour more, then it would have taken o hour less for the same journey.
Find the speed of the train. 6
L) | 11 P.T.O.
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24. A spherical glass vessel has a cylindricg] neck 7 cm long and diameter is 2 cm in
diameter, while the diameter of the spherical part is 84 ¢m. Find how much
water can be filled in the vessel.

OR
A toy is in the form of a cone of radius 35 cm mounted on g hemisphere of the

same radius. The total height of the toy is 155 cm. Find the total surface area

of the toy.

25. The angles of depression of the top and bottom of a 10 m tall building from the
top of a multi-storeyed building are 30° and 45° respectively. Find the height of
the multi-storeyed building.

OR
(i) The angle of elevation of a chimney from a point situated on the ground is

60°. If the distance of the point from the foot of the chimney is 25 m, then
find the height of the chimney.

(i) Akiteis flying at a ];l\@@t of 60 m above the ground. The string attached
to the kite is tem%&nly tied to'a point on the ground. The inclination of
the string w@\%'ne ground is 60°. Find the length of the string, assuming
that there % no slack in the string.

822
(HW) 12
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